Wohnflichenberechnung

Dachgeschof
Wohnung-Nr. = 2-Zimmer
Wohnen 5,0175 X 228 = 11,19 m?
+ 4,3125 X 1,07 =+ 461 m-
+ 3,48 X 1,45 =+ 5,06 m?*
-+ 2,3878 X 0,87 =+ 088 m? 21,73 m@
Schlafen 4,7325 x 3,30 = 15,62 m?
F 2,0525 X 0,37 =+ 0,76 m*
/ D56 X 0,445 =- 0.24 m?* 16,14 m*
Kiiche 3,48 X 1,74 = 6,06 m?
+ 0,705  x 1,84 =+ 1,16 m?
/ 0,30 ¥ 0,80 =- 0.24 m? 6,28 m-
Bad 3,0325  x 1,94 = 588 m?
/ 0,93 4 0,24 =- 0,22 m?* 53,66 m*
Flur/AR 2,4325 «x 1,94 = 4,72 m*
+ 1,02 X 1,25 =+ 1.28 m? 8,00 m*
56,51 m*®
/. 3% Putzabzug 1,70 m-
54,81 m?
Balkon 4,59 X 1,80 = .26 m*
Terrasse 0,758 X 2,40 =+ 1,76 m*
+ 3,14 x 1,22 x 1,22 /2 =+ 2,34 m?®
12,36 m?
ansetzbar 5 % von 54,81 m? 2.74 m”
MWohnfliche Dachgescho Wohnung-Nr. 57.55 wm>



